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(( p ru qrup ur 2frtr n rp1 tutr tr ur fu u p ru p n rp1 n rtt 81085,8

Purdftr N 01 funrrlp N 01 nruu N 01 Opbtru+hp tr qnptu4[rp rluprlfrtrtrbp, ulbrnru!ub luntur{upnrrl

1. q"nd*'lhft t2lur"t n,pf rrt , qbrntu[rub \unutluprftutr hutrpuqbuur\rutr h mruprudprulfrtr [runtur{rupdrutr
rfrrrnrfhhfuhnh urrrhrlurbnul {trur}uurnunhhnh turluurntuhuqfbnh rftuunrl)

17901,7

uuul.u'qPuLeLbn 6052.3

09132100/1 rbtroht. runbtlhnrrl c< lhmn 480.0 6,140.0 2947,2

09132200/1 pbtrqhb, nbqnrgurp c< rhrnn 460.0 2,670.0 122A,2

09211110/1 rrundhrh rnrn, lrhuruuhLBbmhl't c< thr,nn 3.000.0 20.0 60,0

22211300/1 ur runnbntr U utr rJru rln rt FCU< nnrurl 251.400.0 1.0 251,3

22811150/1 Lnrarumbrnnbn c< hrum 230.0 20.0 4.6

22811180/1 onuo,nbn L rurlbtontur Lrnrdlbnh mbmnbn c< huur 1,200.0 14.O 16,8

30121460/1 rn nLbnuthtr Brunrn nhltrbn c< hrurn 9.000.0 6.0 54,0

30121460/2 m ntrbnurthb prupm pfrltrbn c< hrum 9,000.0 6.0 54,0

30121460/3 rn nlbnurhtr Brunm nhgfu bn c< hrum 9.000.0 6.0 54,0

30121460/4 urntrbnurthL prunrnnhqtbn c< hurrn 9,000.0 5.0 45,0

30121460/5 r.n ntr bn rurhtr pru n ur n hqtr bn c< hum t2.000.0 1.0 t2,0

30192100/1 nbr,nhfu huuurnul.t c< hrum r00.0 50.0 5'U

30192128/1 qnhr qbtuthtr c< hurn 150.0 40.0 6,0

1,O19)1i5/1 qnu$hmb rlhonrU, rlurm frmlr hrurftup c< mnrrfr 300.0 14.0 4.2

30192136/1 rlrur.n hrn. qnru$hrn b, m b4tu4prln11 ilhgnrqn{ c< hrum 200.0 20.0 4,0

30192137 /1 rftumhm, qnur$hurb rlf gnr[n{, huuqlllh c< huur 100.0 t4.0 1,4

30192160/1 Itnnhtutrbn c< hrurn 280.0 30.0 8,4

30192220/1 q nfr rlbp ru1 Jrb JrtrBtr u 11 q1nrfu duqu{btr'
1 9rftIx36rI qnuubtrtruLruth!, *nBn

c< hurn 40.0 20.0 0,8

3019271C/1 u n utri ru tftu rn h u, qn u ubfuJ q{lq-bfu 

-

c< hruur 200.0 52.0 10,4

30192720/1 adurtrrhl c< hum 250.0 33.0 8,3

30192760/1 unhl, un{nnul{utr c< hrum 100.0 40.0 4.0

30192781/1 hounrudutrhr. lantab c< hrurn 340.0 60.0 20,4

30193110/l qp btr ur ! rut q fr ur n qptr b p fr rltu u ru rln p rftutt

]...',f ."-.,'t'nt'h- lr rrrrrtntttnttthhn

c< hruur 2,700.0 3.0 8,1

30197111/1 tunhth rlbtn unulurnb hrurqbn, rlrnpn c< urnrrh 100.0 10.0 1.0

30197112/1 hunhrh rlbrn ruqrupupb t1rrt!q!n-,-{[9[!- c< rn nrrlt 200.0 r0.0 2,0

30197231/1 Bn Bruulruturuh, utnthdbnqhb,plglurlp'}ql c< hrum 10.0 1,080.0 10.8

30197234/1 BnBuquhruk, l4n2m !ruqtln{ c< hrurn 900.0 30.0 27.O

30197321/1 nhr. rlhtlL 20 rabnBh hrudrun c< hurrn 600.0 4.O 2,4

3\'t97322/l lUtunhr, 20-50 pbppfr hq{q[ c< huur 1.200.0 6.0 7,2

30197631/1 anrno. A4 $nnrlrur.nhl /21x29.7/ c< r,n nrdr 1.800.0 158.0 28'4,4

30199420/1 t,rnr rfhhnh hrrrrlun- unufubrlurSonrl c< rn n rrh 250.0 15.0 3,75

G< rnnrft 350.0 15.0 5,3
30199430/1 ranrnra hrnrilfu bnh, rnnqutlbbnn{
30234300/1 nurmunh uUrurlrunul], unulg mnrrlrh, CD c< hum 150.0 200.0 30,0

30234620/1 l$rbz hhznnnrpln{,498 c< hrum 2.600.0 4.0 10.4

c< hurrn 3.600.0 3.0 10.8
30234630/1 36,0
30236100-1 hrudruIupq1[r h Jr2nrlnrp;nrtrp rlbdrugtnrl

rrrrrnnhn

c< hurrn 12,000.0 3.0

c< hurn 12.000.0 6.0 72,O
30236100/2 hrurlu[rupqlJr hfr2nqnrplnrhp dbdugtnl

c< hrum 25.000.0 2.0

5.0

50,0
30236110/1 ouhnumhU hn?nnnrBlnru (ram,

6,000.0 30,0
30237112/1 utrnrqrlutr p1n\ c< htum

c<
c<

hurrn 30.000.0 1.0 30,0
30237140/1 r-tu tn uU rutr u1 1u ur rutr hP

hruut 79.500.0 1.0 79.5
31431100/1

31431100/2

b ru ru ru n ru prarl ru r hL ll n lur wll httrb[
.l'h.trl=n c< hrutn 45.000.0 3.0 IJC,U

pcu< hurn 1,800.0 12.O

t2.o

21,6
31512210/1 rlbrn run tu hrulnqEUqtrr4uqgiy:L- 20,4
31512220/1 rlbtnurnttu hutnqbbuthL tuill l!"tu FCU< hurrn 1,700.0

hum r00.0 50.0 5,0
31531210/1

FCU<
FCU< hrurn 400.0 25.0 10,0

31 531 500/1
'l,)O'rrf PCU< hrutn 500.0 45.0 22,5

31531600/1
PCU< hum 1,600.0 15.0 24,Q

31685000/1
FCU<
c<

hur,n

hrurn

100.0 51.0 5,1

33761000/1 onrquntuun ralnrrlld' rlrrurl
L,lt,L 40.000.0 1.0 40,0

c< hurtn 40.000.0 4.O 160.0
34351200/2 ru rl m n rlbpbb rut, bntr *t El!!l- 7,2
39221130/1 pudultrhp FCU< hrurn 300.0 24,U



39263410/l uilnruL. dbrnruntru, rhnpn c< mnrrh 180.0 10.0 1.8

39263420/1 rudnutr. rlbr,n run ru. rlbd c< urnrrh 400.0 10.0 4.0

39263510/1 ubqrftu!, rfrnpp c< hurm 25.0 154.0 3,9

39263520/1 uhnrlulr, rlhthtr c< hruu 40.0 t00.0 4.0

39263530/1 ubnrftuh, rlbd c< hrum 60.0 50.0 3,0

39513200/1 BnBb rutrdhnnqhU, bnhZbnm PCU< hurn 100.0 660.0 66,0

44521170/1 hnnwbptbn FCU< hum 4,550.0 4.0 18.2

09132100/1 pbbqhtr, ulnbdhntll c< ilun 3500

30121460/1 mnLbnrurhtr punn nhgtbn c< hurm 6

30121460/2 ur nbbn ru rhtr pru n r,n n hptbn c< hurn 10

30121460/3 ur ntrbn urrht punm nhgtbn c< hrurn l6

UUU ||L UUtlU3nF|.}3nf.f,Lbn 11849.4

50111130/1 ru r{rn n rlbpbtr rut bpfr r{bptufu n pnqrftutt

lrurnurrnrrarnrtrfubn

pcu< 'Iprud 495,100.0 1.0 495,1

50111180/1 ru rlm n rlbp bb rutr bp fr p{u g drub tr b rftutr u ur fr q
6urnurrnrrarnrbtrbn

c< rlpuf 800.000.0 t.0 800,0

50321400/1 prugnrgfrl (6ru1prurftuuru1[rtr) uuppbpft

rlbnrutrnnncrrftut drunutnrratnrLtbn

c< nprutl 500,000.0 1.0 500,0

64211110/1 m bnurrhtr hbnutunuruthtr drunulnrplnrthhp FCU< rlnrurl 270.000.0 t.0 270,O

64211120/1 rlf gpurpuprulfrfu hbnru Junuulfttt
Arrnrrrnr nrnttrtrhn

FCU< nprurl 899.600.0 1.0 899,6

64211139/1 F!!uJhb hbnu Junutrbp[ 6unu1nrp1nrLtubp FCU< nprurl 1,226,000.0 1.0 1226,O

99500000/1 plnrgbtubpJr [ur.nurpfrub rltuuft ((
opbtru4pnrp1urrlp uruhrlutr{ud 4brqpbpnrrl

{ru p1u ! rutr ru lur fr h Jr dutr r[p ru rlur m n r'g r[rud

6runrul nrplnrfutrbp

clau rlpud 540 I 540,0

65111100/1 furlblnr 2p[r pru2funtd pcu< 'Ipud 50,000.0 1.0 50,0

65311100/1 f1b!m pru\uhnrplu! pru2funrrl FCU< npurl 4,456,700.0 1.0 4456,7

66511170/1 rf nfururlpufJrgngbbpfr hbm \uq{ud
uqtuhn{uqpru!tu! 6runulnrp;nrtrfu bp

pcu< nprurl 200.000.0 I.0 200,0

72212227/1 h u \ u rlfr p n ru ru1 frtt h ru rlu lru nqtulhtr
dpuqprulfrtu {r rupbptrbpI rl2u!iluttu
.t, trtrhn

c< npurl 500.000.0 t.0 500,0

72511100/1 S ubg h !u nru r[ru prftutr 6p ruqp u1 fttt
urrrruhnrl durtr durnurrnrrarnrLhbn

FCU< nprurl 280,800.0 1.0 280,8

79111200/1 trbp\urlugnrgltu11uL 6tunulnrplnrtrtrbp FCU< tlprurl 1,050,000.0 1.0 1050,0

79821170/1 rn qurqpu[1utr h unurprlul dunulnrplnrhtrbp c< rlptud 31,200.0 1.0 31,2

99600000/1 trbnphfu qnndnrnnrrltrbn qau rlnturl 550.0 I 550.0

Frudftr N 06 fu",,JF N 06 1,rr tt Ot pUrlluprutrul[rtr 2[rtrruprupnrplutr h lnrlnltrrul drunulnrplnrtrlbp (tu11

4ruubpfttr lqruLn \rufu n{
L C"nd*+hn hrl".rtrn,plrtr, qur,uqrt, q,.-rut{urprltufu hrutrpuqbrnrut|rufu tr mupruopurlfrtr [tunu{updutt
rftuprlfrttrbp|r quhqrubnrrl (trruluupupnrp1nrttrbpI u2Jurutnru[uqdbpfr druun{

63184,1

uuur.uqnuLeLbn r8211.3

09132200/1 nbbqhb, nbqnrlun c< lhmn 460.0 19.635.0 9032.1

41111100/1 ndurbrnr onrn pcu< nnrurl 't818 66 120.0

22211100/1 pbnBbn Feu< tlnurl 70.000.0 t.0 70,0

22811150/1 trnorur.nbrn pbJr c< nnurl 230.0 100.0 23,0

22A11140/1 onrucrnbn h urlbtrontu trrnrdtrbnh mbrnnbn c< hrurn 1.200.0 50.0 60,0

22811190/1 ru?turr.rmr'uhButh! qnPnUtl c< hrurn 1.250.0 30.0 37,5

30121460/1 urntrbnruthb Burnmnh$bn c< hurrn 43.000.0 4.0 172,O

30121460/2 m ntbnruthfu BrunrnnhPtrbn c< hum 48.000.0 3.0 144,O

30121460/3 ur ntrbnuthtr puprn Pf gttbP c< hrurn 48.000.0 3.0 144,O

30121460/4 ur ntrbn ru r htr pru p r,n p frghbP c< hurur 48.000.0 3.0 144.O

30164000/1 rqFuumhh pr!nm c< hurm 750.0 64.0 48.0

30192100/1 nbtnhtr huruunut{ c< hrum 100.0 70.0 7,O

30192128/1 qnht qbLuthtr c< hum 150.0 500.0 75,0

c< unrrfr 300.0 30.0 9,0
30192135/1 onu$hrnb dhonrh, rlumhmh hurftuP

30192136/1 rluur hm, qnru$hn b, m b4.u4n4!i.-{[gq4- c< hrutn 200.0 60.0 12.0

30192137 /1 druurhm, cnu$hm h dlrgnrllnr[' huuruFu[l c< hurn 100.0 50.0 5,0

30192151/1 hbhp, urlrnnrlun, nrfu c< hrun 8.000.0 3.0 24,O

30192152/1 lrtrhp, rurlmnrlrurn, !1nP c< hrurn 8.000.0 3.0 24,0

rurnhfutrbn c< hurur 280.0 t40.0 39,2

30192220/1 qnf rlbpulfrt frtuptru!q1nr! druulur{btu'

1 9rftix36ri qnuubbpuUulhb',lhnp[-
c< hum 40.0 80.0 3,2

30192710/1 u n utrdu rlurtn h m, qnu u bfu11q[ulbt- c< hrurn 200.0 190.0 38,0



30192720/1 a0ruLrht c< hruur 250.0 180.0 45.0

30192760/1 uplr2, un{npulltutt c< hrur,n 100.0 96.0 9,6

30192781/1 fgrupudurtrfrl, PqPb c< hrurn 340.0 132.0 44,9

30193700/1 pqpur4rupru!, hrup!bpnrl, qluurn rluruh c< hutn 3,300.0 10.0 33,0

30197111/1 hrunhrh rlbmrunurtrupb hruu.lbn' *npn c< mnufr 100.0 r40.0 14,0

30197112/1 hrunhrh dbur run ruttunb Uuqhp' dttgJttr c< rn nrrlt 200.0 90.0 18,0

30197231/1 ran raru ur ut ru L. urn r h rlbn ru t htr raru n rutr B, $u t t c< hturn 10.0 9.960.0 99,6

30197234/1 prlpruqutrtu\, In2rn \ruqdn{ c< hrurn 580 133.0 77,14

30197321/1 hrpht, rlfrtrltr 20 pbnPh hrurftuP c< hurm 600.0 70.0 42,O

30197322/1 Irunhr, 20-50 BhnBh hrudutP c< hrutn 1,200.0 20.0 24,O

30197323/1 hunhr, 50-hq udbrh BbnBh hturluP c< hurn 8,000.0 3.0 24,Q

30197631/'.| pnrlp, A4 $nprlrurnfrl /21x29.7/ c< mnrrfr r580 350.0 553,0

30199231/1 burlutrh 6ntun, A5 dtrtulu{tft c< hruut 20.4 r1,250.0 229,50

30199420/1 pnrnra htnrrltrbnh hrudrun, unutdrlrudpnr[ c< mnrrh 250.0 180.0 45,0

30199430/1 1anrrlB trznrrlbbpfr, rn pgul1trbpn{ c< urnrrft 350.0 180.0 63,0

30234300/1 nrumrunL uburlrunruh, unutrq rnntthh, CD c< hrum 150.0 566.0 84.9

30234620/1 brbr hhrnnnrptnrtr, 4GB c< htuu 2,600.0 23.0 59,8

30234630/1 brbr hhrnnnrplnrtr, 8GB c< hruur 3,600.0 6.0 21,6

30236100/1 hurlu14upqlfr hf 2nrlnrplnrtrp rlbdurgtnl
uurnobn

c< hum 12.000.0 4.O 48,0

30236100/2 hrurlu\rupqlfr hfr2n4nrplnttrp db0ugbnq

uurnobn

c< hrurn 12.000.0 5.0 60,0

30236110/1 ourbnurnhrl hhrnnnrptnrlr {ram) c< nnrurl 25.000.0 4.0 100,0

30237111/1 utrnrqrlruh drunurhnq c< htuu 10.000.0 30.0 300,0

30237112/1 utrnrqrlrufu p1nl,1 c< hum 6.000.0 30.0 t80,0

30237140/1 rlu t n ru L rutr q 1ur ur tuL bP c< hrum 30.000.0 2.0 60.0

30237140/2 rlrrrrnurburtr urr urr.n utbbn c< hrum 30.000.0 2.O 60,0

39263310/1 onurqnuq. ubnufuh c< hruur 900.0 30.0 27,0

39263410/1 urrlnulr. rlbrn runtu, rh npn c< tnnuh 180.0 150.0 2l,u

39263420/1 rutlnruL. rlbururnrtr, dbd c< r.nnrth 400.0 50.0 20.0

39263510/1 ubnrluh, rhnBn c< hrum 25.0 300.0 7.5

39263520/1 ubnrluU, rlhqhtr c< hruur 40.0 945.0 37.8

39263530/1 ubnrJurL. r-lbd c< hrurn 60.0 200.0 r2.0

31531210/1 FrhLrnnurbrub rrurfur. 60W. 80W, 100W FCU< hrum 100.0 144.O 14,4

31531500/1 obnbLurrhtr rurJu 60urI FCU< hrurn 400.0 50.0 20,0

31531600/1 obnbLrurhb rr.ur.ltu 1 20utI peu< hrutn 500.0 70.0 35,0

31651100/l rJbbnruhr duwudbtr, onruLurdh pcu< hrurn 150.0 r2.0 1,8

31683300/l bnru pru2Ju [r1, {ru p 4u [frtr rlfi ru g r[nr1' unutg
rrrnh

pcu< hurtn 250.0 32.0 8,0

31685000/r hrbtrrn nuhrutr bnhrunruqdrub lun PCU< hruur 1.600.0 r3.0 20.8

39221130/1 nudru!bbp FCU< hrur,n 300.0 24.0 7.2

39221140/1 Bbrh Urud unrn6h PudultbP FCU< hrum 225.0 24.O 5,4

39513200/1 onlab ubdbnnqhU, bnUZbnm pcu< hurn 100.0 369.0 36,9

39522250/1 rhnrnr hrurl urprlurt Urn nnLbn pcu< hurrn 280.0 75.0 21.0

39711220/l hrhLm nutrrutr un6bthtrbn pcu< hruur 3,500.0 20.0 70.0

39711230/1 nbrh ururrn nurum tftutr hbtrrn nrubru! uunBbn FCU< hrurn 7.000.0 16.0 112,0

39831245/1 c6un. hbnnrlt FCU< rhmn 320.0 25.0 8,0

44521170/1 Lrnnwbptrbn PCU< htuut 4,550.0 r0.0 45,5

44521200/1 hnntubplbnh rftuubP pcu< hrum 1.200.0 40.0 48,0

32411130/1 hruahuquLq c< tlnurl 4.000.000.0 1.0 4000.0

34351200/1 ru rl m n rlbBbtrtutr b p fr ut [ {Lbn c< hrurn 55.000.0 4.0 220,0

34351200/2 ,L-L ,,.t,k,lt,l: c< hrurn 55.000.0 4.0 220,O

c< hurn 55.000.0 4.O 22O,0

240,034351200/3 uUu nUbBUuuubnn uiuFL{uEF

34351200/4 Lurl rn nrlbobtrtutrbnh ufu hdbbn c< hrurn 60.000.0 4.U

34351200/5 ru d rn n rlbBbtr utrbnh tutr h{t bn c< hrutn 40.000.0 3.0 120.0

34351200/6 ,,,1'n nrf hnhtrrrtrhnh urfu hdtrbn c< hurrn 39.500.0 2.O 79,0

o9132200/1 pbtuqhtr, nbqntuul c< rhmn 11700

3012i460/1 m ntrbnruthtr puPtn P[Ptrbn c< hum 4
4

30121460/2 rn nfu hnuthtr prupm PlrgtrbP c< hrun

ur ntrbp u1 Jrb pru n qlhp!!I- c< hur I
rnnrrfr 250

30197631/1

324111tr,On

pnrlp, A4 $npdrumfrl /21x29.7/ c<

htudruqtutrq c< rlnrud 1.0
44972,8

uuu ilr. uuftu3nFo3nFLLbl
50111130/1 tur{ur ntlbpblurtrbl]r t[bpurtnpnqilrutt

lrrunrurnrrarnrtrLbn

c< 'IptutI 6,514,900.0 1.0 6514,9



503214C4/1 mugnrght (drulpudruurul[L) utuppbpft

rl bnurtrnnnorlufu drunrurnrrarnrtrbbn

c< rlpurl 990,000.0 1.0 990,0

50531200/1 f 1b t1 rn p tu 11 rutr u ur pp b p fr, u ru pp ru r{n p n ulb b p I
r{bpru!npnqdub L qurhqrutrrlufu

nrtrtrhn

c< npuil 510,000.0 t.0 510,0

60181100/1 pbntru rn u ptr bp Jr r{upb ru \ur 1n rp1 n rt'
rl urnnnnh hbrn rlhu"ruhfu

FCU< npud 120,000.0 1.0 120,0

64111200/1 rfr n u rn ru1ftr 0ru nur;n rp1 n rbtr bp' q ru u{ {u0
burluLtubnh hbr.n

Feu< npuil 240,000.0 1.0 240,O

64211110/1 rn b r1u1 frtr h b nru Ju n u tu1 frfu 6u nrul n rp1 n rtrtr b p FCU< nprurl t.800,000.0 1.0 1800,0

64211120/'l rlfrgpu rluptul [b h bnru fun u u1 fttu

6unurrnrrarnrbtrhn

FCU< npurl 3,728,300.0 1.0 3728,3

64211130/1 p!!u.Uh! hbnw fu n utu bpfr dru nrul n rpln rtrtrbp Feu< rlpud 3,200,000.0 t.0 3200,0

65111100/r Jurlblnr gplr pu2funtd Feu< rlpud t39.200.0 1.0 139,2

65311100/1 l1bI rn p ru \ utr n rpl urb pru2Jun rrl PCU< nprud 11,169,900.0 1.0 11169,9

66511170/1 {r nfu ur4ptud}rgngLbp[r hbm !ruu1{u0
rr rr rrr h n rl urcrn ur L r"utr dru nut n rorn rhtr bn

FCU< npurl 560.000.0 1.0 560,0

70331300/1 n1 ptr ru \ b fr rutr 2ru p d qn rlpfr 11 u ntu {ur p f tutt

Arrrnrurnr nrnttrtrbn

FCU< npurrl 5,771,600.0 t.0 5771,6

72211174/1 h u2rlru q ru h ru \ rutr h ru rftu 11 ur nqlut1 htr

dp uqpul frtu rfr ru phptr bp fr rl2u |.1 dtutt

Arrt.,ttrnr arnrhltLn

PCU< npud 90.000.0 1.0 90,0

72212227/1 hu\ru{frpnturulfrtr hrurlurt1ruFqtu1htr

dp ruqprul frtr rfr ru pbptr bp I rl2ru ! dutr
lrrunurrnr nrnrtrtrbn

c< npud 861.000.0 1.0 861,0

72311110/1 ur r[ru1fu hpfr {bpru{nfu dutr drunulnrplnrbtbp c< rlprurl 740,000.0 1.0 740,0

72511100/1 Sutrgh !urnur{uprlutr 6pruqpulf tt

','.....'h-'l,f "'tr Art,nrrrrnr atntlthhn

Feu< rlpurl 495.000.0 1.0 495,0

75131200/1 iltup4!ulfrtr nbunrputrbpfr hbur llurrqr{ud

p!4hrutrnrp 6tunrulnrplnrtrt"rbp
l,rr,.rrrrl.rrnnr arttth hrrrrlrrtn

pcu< 'Ipud 264.000.0 1.0 264,O

79111200/1 trbpllrulrugnrglu\ru! drunurlnrplnrtrtrbp Feu< 'Ipud 330,000.0 1.0 330,0

79821170/1 tn q ruqp ru I utr Lr ur nuprlurb 0ru nrul n rp; n rtrtr b p c< npurl 490,000.0 t.0 490,0

79821170/2 rn q ruqp ru ! ru! h tu nrugrlutr 6u nrul n rp1 n rttr bp c< nprurl 500.000.0 1.0 500,0

79A21170/3 rn quqpru!ub Lr runuprftutr drunrulnrplnrttbp G< nprud 260,000.0 1.0 260,0

79951100/1 rlJrgngrunnrrltrbp[r hbrn !ruq{ud
A,.t-trrrnrarnttthhn

PCU< npud 850.000.0 1.0 850,0

90511160/1 n1 r[r.nutrqrur{nn unFh tr purfrntrtrbpft

h b nru g rlutr tr n1trlu g dutr dru nul n rp1 n rtrtr b p

pcu< npurrl 80.000.0 1.0 80,0

90671100/1 ru Ju rn u h ulr rlrutr tr rltull ru pnr16L bp ft

nlLltugrIrutr 6runrulnlplnr'Ltrbp pu4rupurlf tl

hrrrrl ornrnurLurtr rlurrnbnnrd 
-

PCU< rlpurl 45,100.0 1.0 45,1

92421100/1 pbppbpnrrl hulm rupupnrplnrtrtubpfi
.-,.....^ -.f..,t. *,,,-r,rrntarnrtt

pcu< npturl 220,000.0 1.0 220,O

92511110/1 u p fu [r {u1 Jrtr 6tu nrul nrpl nrtrb bp FCU< npurl 429,000.0 1.0 429,O

98311150/1 rln p pb ru p m ur rlprutpbbp Jt rlurppdurtr

Arrrnurrnr rernrtrfubn

FCU< npud 300.000.0 t.0 300,0

72411300/1 h ru rlu\ u pqlul frtr(www) fgfr 6tlu r[np rlutr

6runurlnrpl nrtrtrbP

pcu< rlprurl 367,000.0 1 367,0

qQU rlnrurl 3907.8 3907,8
99600000/1 irbnBht qnpdnrqnrdtbP


